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ool DIRI=Ab U BAST K (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=38 1,165,046 962,068 202,978
QESAHBES) 789,152 575,342 213,810
UASA H 2A=X XA 789,152 575,342 213,810
oSS AIAHIA 52,267 33,476 18,791
101 21AH| 31,047 11,308 19,739
04 JIZtN2Z2XNSE+ 31,047 11,308 19,739
OAtaEel fFH22X EH| ¢1fY 11,963
ekl 161,858& » 36F * 2& 11,654
-NE(GEER 11,654,0008 * 2.65% 309
OMRE AIREx I2Y 19,084
sl 78,8803 * 1 * 216¥ 17,039
A== 17,038,080& * 12% 2,045
201 er23 | 6,376 6,744 2368
01 At2tltl 5,040 5,760 AT20
ONclEZ 2SN HAESE 78
50,0008 = 123 600
O=EUZZES s2=(8=Y) MA
1,000,000& 1,000
Ostad 221835 7
300,000& * 43 1,200
OgEA NSy 50,0008 « 12& 600
OFLUSES Y5 FASAHIA 4225 2
= 100,000& » 2HIE 200
O%&E=X H==2H|
50,000& » 123 600
OdsEHII & MEtds S2a4t|
8,000% * 4% = 203 640
O HIX HY=cll 200,000 200
02 S3=gHl 1,336 984 352
OAI=NEgsRaE sSsUERs
50,0002 = 1CH = 122 600
OOt=2SAIE 2H01248= Mot &F &
SAHIE 32,0008 » 2340+= 736
202 04l 7,380 8,200 A820
01 =LHOHI 7,380 8,200 A820
OddY S =0 3,780,000& 3,780
ot g e =X0odt| 3,600,000& 3,600
301 2= 6,264 6,264
14 JIEt2 8= 6,264 6.264
Osze&sI| I sS4
2,000,000& 2,000
ORIZoHY I NB|A KHASALA S48
1,000,000 1,000
OXHelEZEs I S4H|
3,264,000 3,264
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ool DIRI=Ab U BAST K (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,200 960 240
0122 ¥ 5= 1,200 960 240
O=zows 226l ¥ ol
100,000& = 123 1,200
FOUXRIME 2SI 46,948 47,530 A582
201 ger=3| 44,248 44,830 N582
01 AtR2te|H] 41,248 41,830 Ab82
OZURXIME LB
1,035,000& * 4271 4,140
OFeITtxg A =&
50,0002 * 45 * 128l 27,000
OSYME=Z MEZ 9,000& » 122 108
OxzgH3 N 10,000,000 10,000
02 s3=gHl 3,000 3,000 0
OFURXIHEH X2t
3,000,000& 3,000
301 EtE NS 2,700 2,700
14 IIEt2 83 2,700 2,700
O=2IAX NHZEH 1T Bd=
2,700,000& 2,700
sclitdEs N 341,420 265,820 75,600
301 EtE NS 341,420 265,820 75,600
o7 8% -0 - H¥Es243 341,420 265,820 75,600
oolg+¢ 328,320
-Jl2sg 400,000& = 549 » 123 259,200
0= 400,0002 * 54 * 23] 43,200
~slolEs g
20,0003 » 548 * 23] » 12& 25,920
Oogta=2as 50,0002 * 262& * 13l 13,100
A=l X 11,040 11,040
301 LELE NS 11,040 11,040
06 AHELHUAEIXIZ 11,040 11,040
OXtsggl 24| 11,040
-OFAMHI 4,0008 * 43 = 1HTH » 365 5,840
=g & eyl
100,000& = 1JHCH * 12 1,200
-Xt&S Al 4,000,000& * 1CH 4,000
SSAIE |X2el 297,577 214,476 83,101
101 @124H| 42,937 13,840 29,097
M ORIMZZ2NSE S 42,937 13,840 29,097
OFAr2e| 12 42,937
=0 78,8803 * 2% » 243 38,336
-AEIEE JI2HRES
38,336,000 * 12% 4,601
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ool DIRI=Ab U BAST K (cre:xigl)
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
201 LBr2AbH| 202,428 200,636 1,792
01 AFR22t2lHl 33,148 37,356 792
OFA 83 A 48
500,000& * 23| 1,000
OFMI|&H| QHEBR| (H44E
550,000& = 12& 6,600
OAZOIHRR| (fH44E
300,000 = 12& 3,600
OsD| otz (a2
180,000& = 128 2,160
O2YT orelSory FMIIOE (as4a
99,0008 = 12& 1,188
OAZRIA OF4E 2B 248
350,000& » 23] 700
OJizl18 =22 s 2¢
3,000,000& 3,000
QJIZJ] HAl Ui ===
1,000,000& = 33| 3,000
OFARE A2H SE Y
2,000,000& 2,000
O&=I| LXt 55,000& = 5CH = 12& 3,300
Oszt&4al g4 Xt
20,0008 = 8CH = 12& 1,920
Oolglal Z2I8A™D| AR
55,000& = 3CH = 12& 1,980
OEXOIZ2 HEBAIAE(D-DAS) ¢H2F 2ol A
2! 7,700,000 7,700
02 Bs24H| 164,280 163,280 1,000
O3222 ¥ HAl 93,500
“HI(HEAL dlsSsE E) & 222
8,000,000& * 12& 96,000
-EAR2(F3, FAX, CIEY, SAEts)
200,000& * 12& 2,400
- ot 2te | XF & 23|
50,000& * 13l 50
-S20| AFDHHAIZHRIE S S
50,0008 = 13] 50
Ottt A=t 1,500,000& 1,500
OAIE&H| SX12t2ld] 51,860
-HEKXH|(4,078m") 8,000,000& 8,000
-HlAZEAIE A2
54 0002 * BIHA 2,720
-SEY FEA X2
1,500,000& = 1J0HA 1,500
-HASZLE SR
270,000& * 5802 15,660
M &Y X2l 350,000& = 120CH 4,200
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FH: 0IASAHSES)
ool DIRI=Ab U BAST K (cre:xigl)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
-0F2] =2l & SFFL
100,000& * 7CH 700
-EAHRXE WFHI| S22
500,000& » 1CH 500
HE w2l U K27
200,002 * 2L} 400
SEAOIR U Al R
3,500,000& * 102 3,500
“HA RO Y FBS KX
10,000,000& 10,000
—AIAE WY 2ke|
90,000& = 52CH 4,680
OXtgtedei] 6,420,000& 6,420
OFE AL RLIHHIAIAE
500,000& » 12& 6,000
401 Al&HIZ 20| 50,612 50,612
01 AlEHI 50,612 50,612
=4t Y SAH 49,512,000& 49,512
OHA W FXE U YoET Tazp
1,100,000& 1,100
405 XHAHE SHI 1,600 1,600
01 ML =ZFSHI 1,600 1,600
O SHAI 72
350,000 * 14 350
O3|2a Azt 2 600,000 = 14! 600
Ozl 2t 650,0002 = 14 650
KNGASI2ZE oM K& 7,500 3,000 4,500
201 L2 | 7,500 3,000 4,500
01 Ar22eltl 7,500 3,000 4,500
OXNYAI2E M2l &4 =&
50,0002 » 25 * 63l 7,500
MOISEH 22 XI& 32,400 32,400
201 2| 32,400 32,400
01 At 22|l 32,400 32,400
OMGOt23 glo &4 =4
50,0002 » 108% * 63 32,400
SHAAZMEFE(2ES) 205,000 185,000 20,000
S 2AREFE 205,000 185,000 20,000
QIRoHE 2 ARZ2AY 100,000 100,000 0
401 Al&HIZ20HY| 100,000 100,000 0
01 AlEHI 75,000 75,000 0
O&Z S AMERXE=HI
5,000,000& * 107024 50,000
OLAZAIE XE & S2E9H|
5,000,000& 5,000
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B SUARDANEN(22S)
SEPCEIEST o )
SA - ZB . 9(B) - NIRAD - BaS ol b A 2
OS2 % otdt 5 NEXY
5,000,0002 * 43 20,000
03 Al 2 CHYI 25,000 25,000 0
OLZ & otaEdl HHIgXs
500,000& * 40JH A 20,000
OM&®Y HHlgxtz
250,0002 * 203 5,000
L2 X HAY 5,000 5,000 0
206 =8l 5,000 5,000
01 M=l 5,000 5,000
OZ2Zxd M+ 5,000,000& 5,000
SIE O Ol &t 100,000 80,000 20,000
401 Al&HIZ 20| 100,000 80,000 20,000
01 AlEHI 100,000 80,000 20,000
OOtEttz SdY &AL
30,000,000& 30,000
OAIDHAl =21&H =4 At
20,000,000& 20,000
OSHMUZ 2lE U HOtMAUZ FY|Al
A 20,000,000 20,000
O 42 0o Xl At
30,000,000 30,000
HY2IHH(SE3) 170,894 201,726 A30,832
l2gul(2gs) 170,84 201,726 230,832
J|1E23H| 170,84 201,726 230,832
201 Lt | 92,844 115,706 A22,862
01 At 2telt] 67,49 0,34 A22,862
Ogaae(g=2d|) 14,550,000& 14,550
Oget=2| 8,838,000& 8,838
O=&t| 9,984,000& 9,984
O=2AD & =S80 Sx=
400,000 * 20 = 12& 9,600
O#FZEY A2 FH| 24,520
-2 ZelH 8,800
- El 440,0002 * 2CH » 45 » 23] 7,040
= 440,000 * 20 * 23] 1,760
-BtIely 200,000& = 13CH » 33 7,800
—+AX 120,000& = 2CH * 33l 720
-SEFYSI ENH
600,000& * 2CH * 53] 6,000
-HEads)| A2S 1,200,000& 1,200
02 33244l 25,352 25,352 0
O=322 ¢ MAM(RER3)
20,000,000& 20,000
O#EZEH KRAIZ==H| 5,352
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T BISAAY|(22S)
ool J1=2dH1(2E8) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-CISARIDI
1,300,000 = 38CH * 5% 2,470
-Ielf 4,000,0002 * 15CH * 2% 1,200
—+AX 630,000 = 2CH * 2% 26
-SeAEsI|
46,0002 = 3CH = 122 1,656
202 04l 65,610 72,900 AT7,290
02 A0 65,610 72,900 AT,290
OZH04bl 65,610,000& 65,610
203 =2l 12,440 12,440
01 D[22 HIR S| 6,600 6,600
Osd 550,000& * 128 6,600
02 HRAIMAHARFAH| 1,040 1,040 0
OZXE AR &&ZH| 40,0008 » 26H 1,040
M EA2HER=AH 4,800 4,800 0
ORNEgE =AY
400,0008 * 123 4,800




